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Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x7=7
SeTo fil R TeT fore -
(a) What was the sex ratio of India according

(b)

(c

A7/345

to 2011 Census?

2053 T e Yoo eRey fBrel S R
SIfReT 7

Define density of population.
SR TTed ke e |

Write one main cause of disguised
unemployment in India.

SIS 2vRe FHETOR BT 3 IR e |
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(2)
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{e) What do
You mean by relativ 4
e vy Tetce R e 9 N
() Write the concept of foog
ST S G418 ey |

(@) Define medium enterprises

Wﬁﬁm%‘mwmwﬁmr

2. Answer the following questions :

OO fl eryoTyEg Ba forg -
(a) What is de
rate of Indi

security,

2x4=8

ath rate? What was the death
a according to 2011 Census?

gg;ﬁ;&;o;s W%WW&@—

(b) Write two i
mportant causeg
unemployment in India. e fontad
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(¢) Point out two ne
revolution in Ind
ST g oy
el i |

(d) Mention m
) my  two important
S0 4 r
faced by Inicro-enterprises in ouriz:;zilys
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s e
81 ST ST ey <oy | TR @R R e
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gative impacts of green
lan agriculture,

ECE IR G o—
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(3)

3. Answer any three of the following questions :

5x3=15
were i 7 e folnt opR Teg o

(a) Write briefly five basic features of Indian
economy.
SEe QYRET Ao (Nfere @AME vLs forar 1

(b) Suggest five measures to check the rapid
growth of population in India.
SIqeq RN I 314 AT <0t " o[
H{I5CERT |

(c) Discuss the major limitations of public
distribution system in India.
SHey JoRdl [edd IWER W SCIAIRTER
ST 90 |

(d) Explain five causes of inequalities in
income in India.

TREIHS SRE SPOR #A65! e A BT |

(e} Write the importance of industrialization
in the economic development of India.

SRS AT TS FCMINTAT %G fordl |
4. Answer any three of the following questions :

10x3=30
wors fo 8 G R en B o

fa) Make an appraisal in the trend of the
growth of per capita income in India
during the plan period. Mention the
important causes of slow growth of per
capita income in India.
fRFTAN PELRA® OFST Td WES I
SIS PR 1 | SR Tef] S 3 I
A FRPR Ty 41 |
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(4)

{b) Discuss the impact of rapid growth of
population on the economic development
of India.

oY Ao TmEe we wRdl 3
ST SIS 41 |

fc) Explain the different factors responsible
for poverty in India. Write briefly the
various measures taken by the
Government to alleviate poverty. 5+5
oeq WRwed A wolkE Rfem Semepnz
ARG T | WGl T AR I @R [{iew

JREPTR BT fersil |

{d) Discuss the important problems that
retard the requisite growth of agricultural
sector in India. Suggest five measures to
improve productivity of agriculture in
India. 5+5

TRYY FRYGT APISR SmEe I agw
STEPPTE, A 91 | P Seemamierel e
T #A06! I I SSCEr |

(e) Analyze the various reasons for the poor
performance of land reforms in India.

SHOET TR REN TN SpeeReN [few
FEPTR R 1 |
(f) Critically discuss the role of small

enterprises in the industrial as well as
economic development of India.

SRy S OU AT WS FE
SO SRR FHCOIER T SHTCEH |
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